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1. Your Information

Prefix (Mr., Mrs., etc.):

First Name:

Last Name:

Email Address:

Phone:

2. Work/Company Information

Job Title:

Company / Organization
Name

Company Address

Website:

http://

3. Other Information

Sector of activity

Foundation date of the
company

Country in which the
company is based

Briefly describe the
solution and value
proposition

Why do you want to
participate to the
Luxembourg delegation?

How do you think can the
Luxembourgish market
support your company’s
goals?

4. PRODUCT / SERVICE (Describe your product/service)
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